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Question Number : 1 Question Id : 2752287879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series.

MOK, , SUQ, VXT
Options :
1. ¥ PSR
2. % RQO
3. ¥ PRN
4. * SPQ



Question Number : 1 Question Id : 2752287879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad sier g d qw ue I1d S|

MOK, , SUQ, VXT
Options :
1. * PSR
2. % RQO
3. ¥ PRN
4. * SPQ

Question Number : 2 Question Id : 2752287880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series.

, IF, EB, AX, WT
Options :
1. ¥ MJ
2. % FH
3. % SF
4. % AS

Question Number : 2 Question Id : 2752287880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad s1&R $aan & g ug 1 B |

, IF, EB, AX, WT
Options :
1. ¥ MJ
2. % FH




3. ¥ SF
4, % AS

Question Number : 3 Question Id : 2752287881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # INDEPENDENCE DAY : 15th August
2. ¥ GANDHI JAYANTI : 20th October

3. ¥ AMBEDKAR JAYANTI : 14th April
4. ¥ REPUBLIC DAY : 26th January

Question Number : 3 Question Id : 2752287881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e fywedt & § I v iR 8% T g B 1 graifes, T fdshen 3/ ofiF 1 avg T8 81 3 fadhey &1 9a= &3 o 3T 3T g
Options :

1. % Al fad : 15 3R

2.« gt SR : 20 SfagaR

3. % 3fSSH ol : 14 U

4. % UG fGa¥ : 26 SR

Question Number : 4 Question Id : 2752287882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. % 56:286
2.9 26633



3. % 36:114
4. % 51:256

Question Number : 4 Question Id : 2752287882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T fawmed & 9 & T [y e & 90 § | 8Tald, Uh [Aded 31 019 &1 dve ol ¢ | 34 [dded &1 78 B oIl 37 I 3T 5|
Options :

1. # 56:286

2.¥ 26:633

3.% 36:114

4. % 51:256

Question Number : 5 Question Id : 2752287883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Sachin Tendulkar : Cricket :: Manpreet Singh : ?
Options :

1. ¥ Hockey

2. % Badminton

3. % Tennis

4. % Football

Question Number : 5 Question Id : 2752287883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAHed BT 997 B S iR UG ¥ 341 UHR ¥ Yafdd g fo JR ¥ 3R UG Ugd Ug ¥ Hafed g

ﬂﬁl‘fagﬂwi - fohdhe IFI'EﬂT‘Tﬁl_E' 2 ?

Options :




1. ¢ Gl
2. % qgfied
3. % 29
4. % pdld

Question Number : 6 Question Id : 2752287884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Taj Mahal : Agra :: Red Fort : ?
Options :

1. # Assam

2. ¥ Delhi

3. # Tamil Nadu

4. ¥ Maharashtra

Question Number : 6 Question Id : 2752287884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [doed &1 999 B S e Ue I I UHR ¥ Aa&fd ¢ o UHR ¥ gkl UE Ugd U & Hafdd g

drSTHgd : 3RT :: ATl fobedl : 2
Options :

1. % 3/

2. ¢ el

3. % A A1g

4. % TERIY

Question Number : 7 Question Id : 2752287885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In a certain code if '6184' means 'All glitters are gold', '7489" means 'gold is all glittery', and '0126' means 'Are glitters silver too', then what will
be the code of '79' or ‘97°?

Options :

1. # are glitters
2. ¥ is glittery
3. # is glitters
4. % are glittery

Question Number : 7 Question Id : 2752287885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ue (Afd e O afd 6184 &1 3 B All glitters are gold', '7489' I 3§ 'gold is all glittery", 3R 0126' BT Y § 'Are glitters silver too', dl
179 197" T DTS FATEN 2

Options :

1. % are glitters

2. ¥ is glittery

3. #® is glitters

4. % are glittery

Question Number : 8 Question Id : 2752287886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ASYLUM is written as IRXKSL. How will MANSION be written in the same code language?
Options :

1. ¥ LIMR45M

2. % KIMR3NM

3. ¥ LIMR34M

4. % KIMR45N

Question Number : 8 Question Id : 2752287886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TH M e T &, ASYLUM @1 IRXKSL o &0 H foral 9Ird 8 | S le TN H MANSION &1 o feraT Siaem?
Options :

1. ® LIMR45M

2. ¥ KIMR3NM

3. ¢ LIMR34M

4. % KIMR45N

Question Number : 9 Question Id : 2752287887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If X #Y means X is the mother of Y,

X $ Y means X is the father of Y,

X % Y means X is the husband of Y, and

X @ Y means X is the daughter of Y,

Then, which of the following indicates that M is the sister of N?

Options :

. #N#0%P$M
2.9 M@O%P#N
3. M#O%PSN
4. E N@O%P#M

Question Number : 9 Question Id : 2752287887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g x#Y TG fF X, Y P AMES,
X$YPHIg X, Y BT,

X% Y B I B X, Yy H1ufd g, 8ik
X@Y®BTHITX, Y B G,

fipx, fafoRad o 9§ &9 $Rd FRaT g b M, N B I8 82
Options :

. * N#0%P§$M

29 M@O%P#N

3. M#O%PSN



4. ¥ N@O%P#M

Question Number : 10 Question Id : 2752287888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two friends Rachel and Phoebe are standing in a row. Rachel is 7th to the left of Phoebe, who is 18th from the right end. And Rachel is 17th
from the left end. Then find the total number of persons in the row.

Options :
1. % 42
2.9 41
3. % 40
4. % 39

Question Number : 10 Question Id : 2752287888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<l o1 YeIet TR WIS Uep A1 H e § | X=rel Bifel b a1¢ H 7a1 6, S <MY ©R 4 1831 81 3R Y=l ST BR Y 176 W R &1 71 A H el
DI Hol AT 1 DL

Options :

1. #* 42

2. % 4]

3. % 40

4. % 39

Question Number : 11 Question Id : 2752287889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question given below, there are two statements marked as Assertion (A) and Reason (R). Mark your answer as per the codes in options.

Assertion (A): A ship rises as it enters the sea from a river.
Reason (R): The density of sea water is lower as compared to river water.

Options :

1. * Both A and R are true and R 1s the correct explanation of A.



2. % Both A and R are true but R is not the correct explanation of A.
3. ¥ A is true but R is false.
4. ® A is false but R is true.

Question Number : 11 Question Id : 2752287889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

in;r%qmq%rﬁ,almuﬂ‘fﬁ&rf‘wu:r(m 3R HRUN(R) F ¥ | fafgd fvar mar g1 fawedi § 3T T ols & SR S0 3R Rifgd
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Options :

|.% ARRTTNITE 3R, A B Jel AR B |

2. % A 3MRREHI T g AP R, A DI I8! AHAT T8I 8

3. ¥ AT 8 AfBR SR & |

4. % AT E AMBGTR IT B

Question Number : 12 Question Id : 2752287890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In this question, a statement has been followed by two arguments numbered I and II. You have to decide which of the arguments is strong.

Statement: Should consumer buy things on instalment?

Arguments:
I. Yes. The customer has to pay less overall.
II. No. The monthly budget gets unbalanced.

Options :

1. # Only I is strong

2. % Only II is strong

3. % Both I and II are strong
4. ¥ Neither I nor II is strong



Question Number : 12 Question Id : 2752287890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AU H, U Hy= a1 T 3 e 1 g1 b 1 3R 11 flRT U § | 31! I8 d0 &A1 8 fh i1 91 adb Hoigd g |
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Options :

1. ® $Hqd | Ao §

2. % %qd I 7SIgd §

3. % [ 3R 11 ST Aolgd &

4. TAAIMRAT I ANEd §

Question Number : 13 Question Id : 2752287891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series.

112, 122, 137, 157,
Options :
1. % 190
2.9 182
3. % 188
4, % 187

Question Number : 13 Question Id : 2752287891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad e & Ju ug J1d H |




112,122,137, 157,
Options :
1. * 190
2. ¥ 182
3. % 188
4. = 187

Question Number : 14 Question Id : 2752287892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

29:319::41:7?
Options :
1. # 532
2. % 164
3.9 205
4. % 123

Question Number : 14 Question Id : 2752287892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 79 & S R U T I TSR T Taifdrd § o TR | g¥R1 S Ugd Ue § Yefid g

29:319::41:7?
Options :
1. % 532
2. % 164
3.9 205
4. % 123

Question Number : 15 Question Id : 2752287893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the number common to all the figures.

Options :
1. %5
2.9 7
3.% 6
4. % 14

Question Number : 15 Question Id : 2752287893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gt 3] H T TS J1d B |

Options :
1. %5



2.9 7
3. % 6
4. % 14

Question Number : 16 Question Id : 2752287894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship among laptop, electronics and machines?
Options :



Question Number : 16 Question Id : 2752287894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifad 7 3 19 91 99 3R duery, Saaci-ed 3R Al & o & Yot &) Gad 3= axifdl g2

Options :




Question Number : 17 Question Id : 2752287895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, find the option which satisfies the same condition of placement of the dot as in the question figure.

Options :



Question Number : 17 Question Id : 2752287895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T T vy ¥, 98 faeed 1 3 S Uy 3pfa § R fog & RITFH &1 90 Udf &l R a8 |

Options :



Question Number : 18 Question Id : 2752287896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, there is a certain relationship in between figure A and B. Find the figure from the option which bears the same
relationship with figure C.



7

A
Options :

3. ¢



Question Number : 18 Question Id : 2752287896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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=i

A B C D
Options :




3.¢

Question Number : 19 Question Id : 2752287897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A paper is folded and punched as shown in the figure. Choose the figure which closely resembles the unfolded form of figure Z.

Options :



2. ¥

Question Number : 19 Question Id : 2752287897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

2.¢



Question Number : 20 Question Id : 2752287898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following figures can be definitely formed on folding the given cube in the question?

Options :



3.¢

Question Number : 20 Question Id : 2752287898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gy ¥ AT T T P e R Fyfoied & § oH- enefa Ffya 0 9 99 wadl 82



Options :

3. ¢



General Awareness

Group Number :

Group Id :

Group Maximum Duration :
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Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :
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275228293
0

0
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0
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General Awareness

Section Id :
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Section type :
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Number of Questions :
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Online
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Sub-Section Id : 275228500
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 2752287899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kharchi Puja is celebrated in which of the following states?
Options :

1. # Meghalaya

2. % Assam

3. # Arunachal Pradesh

4. ¥ Tripura

Question Number : 21 Question Id : 2752287899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR oo FRafefed & @ fa Isa & 71 St 22
Options :

1. % HUey

2. % 34H

3. % UM U

4. QT

Question Number : 22 Question Id : 2752287900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the 2011 census, which state has the highest tribal population?
Options :

1. ¥ Madhya Pradesh

2. % Nagaland

3. % QOdisha

4. % Rajasthan



Question Number : 22 Question Id : 2752287900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2011 P SFIIUAT & YR, 64 Iod & ST ST Faiiid 82
Options :

1. ¥ GG U

2. % ANTAS

3. % 3fifszm

4. % JORIH

Question Number : 23 Question Id : 2752287901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India was incorporated as a member of the Asian Development Bank In the year
Options :

1. #® 1956

2. % 1958

3. % 1962

4. ¥ 1966

Question Number : 23 Question Id : 2752287901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd &I TRAT [TH™ d6 & 968 & 9§ a9 o =i fosan T A
Options :

1. # 1956

2. % 1958

3. % 1962

4. ¥ 1966




Question Number : 24 Question Id : 2752287902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is the latest stock exchange set up in India?
Options :

1. ¥ India International Exchange

2. # Metropolitan Stock Exchange India Ltd.

3. % Multi Commodity Exchange of India Ltd.

4. % National stock Exchange of India Ltd

Question Number : 24 Question Id : 2752287902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeiRad 7 9 & 91 YR # RAIUd Td-aH Tih TRk g2
Options :

1. ¢ i1 SRS TRl

2. # TIUlfeled Wi URTHSl sfed fafiics

3. * Hodl BIANSE Tages 3t sfear faffics

4. ® YA Wi TaT A sfear fefies

Question Number : 25 Question Id : 2752287903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the basic method of water purification that is used in our everyday kitchen electronic water purifiers?
Options :

1. # Desalination

2. % Jodine Addition

3. ¥ Reverse Osmosis

4. ® Distillation

Question Number : 25 Question Id : 2752287903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

STl YRl b1 e A o1 § O 8HR &b THISER getaiieb il Y Reb H JUINT 1 Silell 52
Options :

1. * facqqufiezor

2. % JEISH SIS

3. ¥ 3chH URTHRT

4. % 3{dq

Question Number : 26 Question Id : 2752287904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The main reason why potassium is important for plant growth is because it aids in:
Options :

1. # formation of cell walls and cell membranes

2. # plant metabolism (food processing)

3. # production of chlorophyll molecule

4. ¥ promoting photosynthesis.

Question Number : 26 Question Id : 2752287904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teff & fadh & e i Rom Heaqul i 8 SUd1 587 HRUI T8 ¢ (& I8 Y o Tgrar =1 6:
Options :

1. % PIRBTHRT 3R PIfRIHT fBreeht &1 fAator

2. % g TAIAY (W] TEHRT)

3. % TUIGRA (U] HT IAT

4. ¥ HI-GIAYU] &l FGIaT &1

Question Number : 27 Question Id : 2752287905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The Chitrakoot waterfalls, which is also the widest waterfall in India, is located in which of the following states?
Options :

1. % West Bengal

2. # Telangana

3. ¥ Chhattisgarh

4. # Qdisha

Question Number : 27 Question Id : 2752287905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

REgGe SRAT, S HRd &1 Ted drel 31 4t B, Fafafea o 9 fera ssa & fRyd /2
Options :

1. % giEY §e

2. ® QT

3. ¥ BTG

4. ® 3nfgEm

Question Number : 28 Question Id : 2752287906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India is the largest global producer of which of the following products?
Options :

1. ¢ Milk

2. # Sugarcane

3. ® Fish

4. ® Rice

Question Number : 28 Question Id : 2752287906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R4 Fgfafed & § ford Iare &1 9ed 981 affe S 72

Options :




1. ¥ gy
2. % T
3. % OJdl
4. % grad

Question Number : 29 Question Id : 2752287907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which village of Bengal did the Indigo Revolt arise in 18597
Options :

1. % Bishnupur

2. % Bankura

3. # Panikhali

4. ¥ Chaugacha

Question Number : 29 Question Id : 2752287907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1859 T id fagie sma & foow Tiia & ganm um
Options :

1. % fquR

2. % ST

3. % UHRgel!

4. NS

Question Number : 30 Question Id : 2752287908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Before Kashmir became a princely state of the British Empire, who among the following were the last rulers to annex it?
Options :

1. % Marathas under Bajirao II



2. # Mughals under Bahadur Shah Zafar I1
3. ¥ Sikhs under Maharaja Ranjit Singh
4. # Afghans under Ahmed Shah Durrani

Question Number : 30 Question Id : 2752287908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIR fafewr gy &t e Raryd s § uga, Fafafed # @ oF 58 fiyam aren sifad e U
Options :

1. % §ISIRIG 11 b AT FRIST

2. % §gIGR VTG T 11 b el el

3. ¢ TERIST 0TS R o 314 g

4, % 3EHG MG g & S B

Question Number : 31 Question Id : 2752287909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The garrison town of "Siri" was created by which of the following rulers?
Options :

1. # Muhammad bin Tughlaq

2. # Ghias-ud-din Balban

3. # Qutub-ud-din Aibek

4. ¥ Alauddin Khilji

Question Number : 31 Question Id : 2752287909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR 1 R Ter Fufafad 7 9 fea e gRY s3mm mar ure

Options :
1. % G fo qireie
2. % TYMYE I SaiaH




3. % $J4-3G-aH UadH
4. ¢ 3RS faetoil

Question Number : 32 Question Id : 2752287910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following scientists collaborated with Einstein on formulating a theory related to the gas like qualities of electromagnetic radiation?
Options :

1. # Subrahmanyam Chandrashekhar

2. % Meghnad Saha

3. ¥ Satyendranath Bose

4. % C.V.Raman

Question Number : 32 Question Id : 2752287910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o 9 fora axnfe A faggadaw g faferor & i S 1ol § Heftrd Rigid TaR & & SMEq & 1y gganT faar
Options :

1. * YSEI0a TR

2. % YY1 18T

3. ¢ A Y

4. % Al IH

Question Number : 33 Question Id : 2752287911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following scientists led the guidance, navigation and control operations of the Mars 2020 Mission at NASA?
Options :

1. % Meyya Meyyappan

2. % Anita Sengupta

3. % Kamlesh Lulla



4. ¥ Swati Mohan

Question Number : 33 Question Id : 2752287911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o 9 fora axmfAes 3 AR & T 8 2020 M & AR, feg=mem sik fg=mr Jeram &1 A fean
Options :

1. % T HgwA

2. % 3{Htal S

3. % HHA el

4. I HIgH

Question Number : 34 Question Id : 2752287912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the incumbent Railways minister, appointed on 7th July 2021 when PM Modi reshuffled his Cabinet?
Options :

1. % Narayan Rane

2. ¥ Ashwini Vaishnaw

3. # Sunita Duggal

4. % Ajay Bhatt

Question Number : 34 Question Id : 2752287912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 & aaam Ya 13 €, o 7 S[ams 2021 &1 g fosan mar o1, Sie g Jict 7 oge #ivsd # thraed foedr U
Options :

1. % RG0!

2. ¢ 3T dwrg

3. % I g

4. % 3O YT




Question Number : 35 Question Id : 2752287913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One of the new species of spiders to have been recently discovered in the Chirang Reserve Forest in Assam is the:
Options :

1. % Brown Widow

2. % Crossopriza Lyoni

3. ® Nephila Pilipes

4. ¥ Gravelyia Boro

Question Number : 35 Question Id : 2752287913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eTd &1 H 39\ § R 3mRfard 99 | wWieit 718 Hafeal ot 78 usnfodl # 9 U §:
Options :

1. % g3 fast

2. % HIGIUST I

3. % Afthar fufere

4. YAl a1

Question Number : 36 Question Id : 2752287914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following states will be launching the " Mathru Kavacham" campaign to provide COVID-19 vaccines to pregnant women?
Options :

1. # Maharashtra

2. % Tamil Nadu

3. ¥ Kerala

4. ® Karnataka

Question Number : 36 Question Id : 2752287914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafeafad & @ o a1 s e At & Hifas-19 A UM B & T HUE dagyr S JRE H3?
Options :

1. % HERIY

2. % qfed g

3.9 P

4. % FHAlcH

Question Number : 37 Question Id : 2752287915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Article 343 of Part XVII of the Indian Constitution declares:
Options :

1. ¢ Official languages of the Union.

2. % Official language or languages of a State.

3. # Languages to be used in the Supreme and High Courts.

4. ® Directive for development of Hindi languages.

Question Number : 37 Question Id : 2752287915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRTT TAUT & HFT X VI BT TG 343 T el 6:
Options :

1. ¢ HU DI BTN US|

2. % 3fTfeepTiRep HIWT AT feh it IsT BT HISTT |

3. % Yated SR I el § SUANT &1 S arelt YT |
4, % T yrwnait & faerg & forg e

Question Number : 38 Question Id : 2752287916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following Articles deals with the imposition of Presidents Rule or Emergency in India?
Options :

1. ¥ Article 356

2. % Article 105

3. % Article 123

4, % Article 93

Question Number : 38 Question Id : 2752287916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Froffed # 9 o 91 srfwde YR H AYUfd MG A1 SHTUTdebTe T 3 Feifdd g2
Options :

1. ¢ 3G 356

2. % 3G 105

3. % 3Jw¢ 123

4. % 3G 93

Question Number : 39 Question Id : 2752287917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was India's first and only World Champion at the IAAF World Athletics Final?
Options :

1. ¥ Anju Bobby George

2. % Dutee Chand

3. ¥ Deepa Malik

4. # Geetha Sathi

Question Number : 39 Question Id : 2752287917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & ¥ o 1AAF 3y Tudfess Bre=a & YR &1 Uge 3R ThaE 3y o= ur




Options :

1. ¢ 3 Sial ot
2. % gl =g

3. % diur Afeis
4, % T Iy

Question Number : 40 Question Id : 2752287918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the reason behind the Athletics federation of India (AFI) dropping Dutee Chand from the athletics contingent at the last minute prior to
the 2014 Commonwealth Games?

Options :

1. # Inability to meet qualifying criteria
2. % Injury

3. # Doping offences

4. ¥ Hyperandrogenism

Question Number : 40 Question Id : 2752287918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR TYcifce HERIY §RT2014 AFHSH Wall § Ugel {fcH TH H Ty &dl 9 gl T 1 ST6R B b1 T HRUT UT?
Options :

1. % JIgdl AFCS! I R B J Sradd

2. % 9

3. % 3OO TaTd (SIUT THhw)

4. ¥ FRWUGNITSH
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Question Number : 41 Question Id : 2752287919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of the two numbers is 69 and their H.C.F and L.C.M are 3 and 378 respectively. Find the difference of the numbers.
Options :

1. %5

2.¥ 15

3.% 10

4. % 25



Question Number : 41 Question Id : 2752287919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l T3t T AT 69 B SR 37 HewH YHUAS (H. C. F.) 3R Tgaq JHUAT (L. C. M.) HHI: 3 3R 378 & | T=AT31 &1 3R F1d B |
Options :

1. %5

2.9 15

3. % 10

4. % 25

Question Number : 42 Question Id : 2752287920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the unit digit of 78 x 24 x 26 x 79 is (N - 4), then, what is the value of 5N + 4?
Options :

1. ® 16

2.% 12

3. % 32

4. ¥ 64

Question Number : 42 Question Id : 2752287920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tfe 78 x 24 x 26 x 79 BT BT 3B (N - 4) B, Al 5N + 4 BT AT T 82
Options :

1. % 16

2. % 12

3. % 32

4. ¥ 64

Question Number : 43 Question Id : 2752287921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A, B, C, and D are four positive numbers. The average of A, B and C is 7 and the average of B, C, and D is 10. If A is 4 and C is 10. Find the
sum of B and D.

Options :
1. % 14
2. % 21
3. % 13
4.9 20

Question Number : 43 Question Id : 2752287921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B, C, 3R D IR TS SR G| A, B 3R C &1 3 7 8 3R B, C 3R D BT 3T 10 51 G A, 4 8 3R C, 10 81 B 3R D &1 AT I1d
B

Options :

1. % 14

2. % 21

3. % 13

4, % 20

Question Number : 44 Question Id : 2752287922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the year 1912, the population of Lakshadweep Island was 12,000. After 10 years the population of males increased by 6% and the population
of females increased by 10% and the overall population jumped to 12,982. Find the number of males and females in the year 1912?

Options :

1. ® 6550, 5450
2. % 6650, 5350
3. % 5450, 6550
4. % 5350, 6650

Question Number : 44 Question Id : 2752287922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Iy 1912 H, AT EU BT SFEREAT 12,000 Y1 10 T & STE TSU BT SRS H 6% BT gfx §s SR Afearsii &1 SHEe # 10% &1 g
g3 3R $o oFEEAT 12,982 B1 TR | T 1912 T Go0T SR Afganafi &t T Jrd d?

Options :

1. % 6550, 5450

2. % 6650, 5350

3. ¥ 5450, 6550

4. % 5350, 6650

Question Number : 45 Question Id : 2752287923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rs. 720 is divided into X, Y and Z in the ratio of 3 : 4 : 5 respectively. Z spent the 20% of his share. Find the amount left with Z.
Options :

1. % Rs. 180

2. % Rs. 154

3. ¥ Rs. 240

4, ® Rs. 144

Question Number : 45 Question Id : 2752287923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%)wzﬁm;.%:4;5$a§mﬁx,yaﬁ?zﬁﬁmﬁamw%lzﬁm%@wzo%mmm%w@amw&rm
|

Options :

1. # 180%4UUd

2. % 154%4UUQ

3. % 240407

4. % 144344



Question Number : 46 Question Id : 2752287924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A dishonest milkman dilutes milk with water and then sells the diluted milk at a price that is 25% more than the price at which he purchased the
milk. If he makes a profit of 75% in this manner, how many ml of water does he add to every litre of milk?

Options :

1. % 300 ml
2. % 250 ml
3. % 500 ml
4. % 400 ml

Question Number : 46 Question Id : 2752287924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP SSHM GUATdl g &1 U1 STcidh Il Bl & IR [hR Iadl g8 39 Jod TR §9dT § ol 39 Hed  25% 3 § o R 39 gy
TRIeT 1| TG 98 S UBR 75% BT arH fofd vl §, Ot a8 Ufd aitex g H fha= m1 o=t firamar &2

Options :

1. % 300 ml
2. % 250 ml
3. % 500 ml
4, % 400 ml

Question Number : 47 Question Id : 2752287925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X, Y and Z started a business with an investment in the proportion of 2 : 3 : 8. After 6 months, X had invested half of his original amount, Y had
invested the same amount, and Z had taken a 3/4th of his original investment. Find their profit ratio at the end of the year.

Options :

1. * 8:5:3
2.% 6:5:5
3.%12:9:4
4.45:9:10



Question Number : 47 Question Id : 2752287925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X, Y 3R Z72:3: 8% GHHUT & a1 & A1y Ha91 R (BTl 6 A & 914, X 7 S0+ G A 1 e 9= fpan o, vy = 99H
R 1 A foran ot 3R z 7 3u= gt Fawr o 3/4 fea foram o119 & ofd H ST My SuTd I1d B |

Options :

. % 8:5:3
2.% 6:5:5
3.#12:9:4
4. 95:9:10

Question Number : 48 Question Id : 2752287926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bhaumik and Kandarp are two brothers. Bhaumik is 5 years older than Mahima and ratio of the age of Kandarp to Mahima is 3 : 5. What is age
of Bhaumik if Kandarp's age will be 25 in 7 years?

Options :

1. # 30 years
2. % 33 years
3. % 35 years
4. % 34 years

Question Number : 48 Question Id : 2752287926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wit 3R dad &) urE § | Hiftes afemn I 5 9 81 3 iR drgd & 3y &1 AfgHT § 3Urd 3 : 5 81 afe dhed ot 3mg 7 98 H 25 98 g,
It &1 3 1 82

Options :

1. % 3099

2. % 3394

3.9 3599



4. % 3499

Question Number : 49 Question Id : 2752287927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are three vessels A, B and C having milk to water ratio as 3 : 5, 1 : 3 and 7 : y. After adding mixture of vessel B to A, the milk to water
ratio becomes 1 : 2 in A. Now 60% of mixture is taken out from vessel A and mixture of vessel C is mixed with remaining mixture of vessel A
which results in a final milk to water ratio of 3 : 4. Find the value of y given that volume of B is 20 litres and volume of C is (7 + y litres).

Options :
1.¥ 4
2.%5
3.% 6
4. % 17

Question Number : 49 Question Id : 2752287927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, BRCEMA U SR U &1 38U 3:5,1:3 3R 7:y gl S B & HYT T A T @M & §1e, A T gY SR I &
[UTA 1 : 2 RIS & 1 316 T A ¥ 60% 0T FepTa foram STt § SR &= ¢ & 901 &1 aci A & [ fHsyor & qr fHfsrd & e S
%@W%guﬁuﬁw&gum 3:4BIAT gl y BT HM I L AF o [ B BT 3T 20 TeR § 3R C BT Sa (7 +
y |

Options :
1.¥ 4
2.%5
3.% 6
4. % 17

Question Number : 50 Question Id : 2752287928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The compound interest Compounded half- yearly on a sum of money at the rate of 20% per annum for 1 year is Rs. 1050. Find the principal.
Options :



1. ®* 6000
2. % 5500
3. % 5000
4. % 4500

Question Number : 50 Question Id : 2752287928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP YRIRT R UfA I 20% Pt R F 1 98 & foIe Srefa1ies Tshafa gd ashgfa STl 1050 ¥UT & | AU 1 B |
Options :

1. * 6000

2. % 5500

3. % 5000

4. % 4500

Question Number : 51 Question Id : 2752287929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum becomes 10935 in 3 years at 12.5% per annum compound interest. Find the simple interest at 8% per annum for 3 years on the same
amount?

Options :

1. ¥ Rs. 1843.2
2. % Rs. 1834.2
3. % Rs. 1847.2
4. % Rs. 1837.2

Question Number : 51 Question Id : 2752287929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gw&uﬁaﬁumﬁw@ma@rsaﬁﬁ 10935 BY I g | 9 AR TR 3 I8 & g ufda 8% 1 &R T QIeR0T &1t 1
?

Options :



1. ¥ 1843.2%UUQ
2. % 1834.2%UU
3. % 1847.2%4U
4. % 1837.2%UUQ

Question Number : 52 Question Id : 2752287930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train 220 m long crosses a milestone in 11 seconds and crosses the other train of the twice length travelling in the opposite direction in 15
seconds. Find the speed of the other train.

Options :

1. % 15m/s
2. % 20m/s
3. % 16 m/s
4.9 24 m/s

Question Number : 52 Question Id : 2752287930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

220 m T TH YS! 11 ThS H W IR HRdl 8 SR fausia fo=m & amm == arell gkl Xerms! &l 15 Y6 s H UR Hat o | gunl
IS &1 i J1d B

Options :

1. #* 15m/s

2. % 20m/s

3. % 16 m/s

4. % 24 m/s

Question Number : 53 Question Id : 2752287931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A train covers a distance of 30 km in 12 minutes. If its speed is increased by 10 km/hr, the time taken by it to cover the same distance will be:
Options :



1. ¥ 11 minutes 15 seconds
2. * 11 minutes 25 seconds
3. # 13 minutes 15 seconds

4. * 11 minutes

Question Number : 53 Question Id : 2752287931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YS! 12 e 7 30 km B &) 00 Bt 81 TS ITBT A H 10 kn/hr 1 g B X ST B, O TAM g3 09 B3 § T aTell GHY ©:
Options :

1. ¢ 11 ffFe 15 96he

2. % 11 A 25 Tdhe

3. % 13fFC 15968

4. % 11 e

Question Number : 54 Question Id : 2752287932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1400 men have provision for 30 days in a temple. If after 5 days, 400 men leave the temple, how long will food last now?
Options :

1. # 28 days

2. # 32 days

3. % 35 days

4. ¥ 34 days

Question Number : 54 Question Id : 2752287932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1400 T & UM U Hiex H 30 fei & o wie 81 afe 5 &7 918 400 3w HfeR 8BTS <d &, 1 31§ WM Hd ddb I

Options :

1. % 28faT




2. % 3pfaq
3. ¢ 35faT
4, % 34feqa

Question Number : 55 Question Id : 2752287933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sudhir completed his office project in 30 days. Kavita is 20% more efficient than Sudhir. How many days will Kavita take to complete the same
project?

Options :

1. % 24 days

2. % 20 days

3. % 25 days

4. % 30 days

Question Number : 55 Question Id : 2752287933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬁiﬁﬁ?ﬁ@fﬂ:ﬁmﬁumﬁmsoﬁﬁqﬁﬁlWﬁﬁﬂ?@fzo%@%wm%l Hiadl B I RIS BT T B H fobaA fa
9

Options :

1. % 24 fA

2. % 20 faA

3.¢ 2518

4. % 30

Question Number : 56 Question Id : 2752287934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cuboid box of dimensions 18 cm X 14 cm X 12 cm is fully packed with twelve similar sized books of length 12 cm and breadth 7 cm. Find the
height of a book.

Options :



1.+ 3cm
2. % 4cm
3. % 5cm

4. % 6cm

Question Number : 56 Question Id : 2752287934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

18 cm x 14 cm x 12 cm 3fTATH &1 G-TH THRIT T A6 ¥ 12 cm TS 3R 7 cm 1SS B TRE THH HHR &1 T&ID! 4 RT3 8| Th
qI® 1 S dTs 1 B |

Options :

1. ¥ 3 cm

2. % 4cm

3. % 5cm

4. % 6.cm

Question Number : 57 Question Id : 2752287935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the radius of the circle, which has a circumference equal to the sum of the circumferences of the two circles with radii 4.2 cm and 3.5 cm
respectively.

Options :

1.4 7.7 cm
2. % 154 cm
3. % 47 cm
4. % 3.7cm

Question Number : 57 Question Id : 2752287935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T B! BT I1d B, ot U, HHRM: 4.2 em 3R 3.5 om 501 % &1 geil &1 GRIAAT & I & RISR B |

Options :



1.¥ 7.7 cm
2. % 154 cm
3. % 47cm
4. % 37cm

Question Number : 58 Question Id : 2752287936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Pie chart given below shows percentage distribution of Students belong to different branch of engineering in a College.
Total Students = 13000

What is the difference between the number of students of Computer Science and Electronics branch?

Distribution of Students

Elzetronies
B%

Options :
1. % 3380
2. % 780
3. % 1300
4. ¥ 2600

Question Number : 58 Question Id : 2752287936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T fear mar urg ard weifaere A siftifFe! & fafts rareht @ J6fdd ol & ufawrd faarur & giar 8|
Fd B = 13000
SR O SR Faae o T & ST B W& J a7 3R g2
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Options :
1. % 3380
2. % 780
3. % 1300
4. ¥ 2600

Question Number : 59 Question Id : 2752287937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following line chart shows number of students belong to different cities in a College. Find the ratio between the number of students from
Delhi and Chandigarh.



—s—Boys —=—Girls

B0 -

&0 -
50

MNumber of students{in Hundreds)
&

30
20
io
]
Lucknow Kelkata Mumbai Chandigarh Delhi
Cities

Options :
1.%1:2
2.% 2:1
3.% 1:1
4. ¥2:3

Question Number : 59 Question Id : 2752287937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gﬁfr@?ﬁwl T1¢ HTaenad B fafe 2exi & Hefid Sl &1 We i a1l ¢ | faed 3R ST & B! &t B & did BT SUTd J1d
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Options :
1.%1:2
2.% 2:1
3.% 1:1
4. ¥2:3

Question Number : 60 Question Id : 2752287938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following bar graph shows three different products(A, B, C) manufactured by company XYZ in four different years. Find the average
number of product A manufactured in a span of four years.



N Product A ®ProductB ¥ Product C

e 725

Eige! 680

Products manufactured by company

2016 2017 2018 2019
Year

Options :
1. ¥ 545
2. % 535
3. % 525
4. % 555

Question Number : 60 Question Id : 2752287938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¥ 545
2. % 535
3. % 525
4. % 555
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Question Number : 61 Question Id : 2752287939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Neither of them are responsible/ for any errors, omissions, or/ misinterpretations in this article.
Options :

1. ¥ Neither of them are responsible

2. % for any errors, omissions, or

3. # misinterpretations in this article.

4. ¥ No Error

Question Number : 61 Question Id : 2752287939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Neither of them are responsible/ for any errors, omissions, or/ misinterpretations in this article.
Options :

1. ¥ Neither of them are responsible



2. # for any errors, omissions, or
3. % misinterpretations in this article.
4. * No Error

Question Number : 62 Question Id : 2752287940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The greatness of maternal love/ has been the topic of many/ an immortal pieces of writing.
Options :

1. ¥ The greatness of maternal love

2. % has been the topic of many

3. ¥ an immortal pieces of writing.

4. % No Error

Question Number : 62 Question Id : 2752287940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The greatness of maternal love/ has been the topic of many/ an immortal pieces of writing.
Options :

1. # The greatness of maternal love

2. # has been the topic of many

3. % an immortal pieces of writing.

4. % No Error

Question Number : 63 Question Id : 2752287941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

They (played hockey in that field before it shut) down.
Options :

1. # have played hockey in that field before it shut

2. ¥ used to play hockey in that field before it shut

3. % use to played hockey in that field before it had shut

4. # No correction required

Question Number : 63 Question Id : 2752287941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

They (played hockey in that field before it shut) down.
Options :

1. #® have played hockey in that field before it shut

2. ¥ used to play hockey in that field before it shut

3. # use to played hockey in that field before it had shut

4. ® No correction required

Question Number : 64 Question Id : 2752287942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(He caused many an offence during the Christmas) period by openly stating his hatred of the Geldof coup.
Options :

1. # He caused many a offences throughout the Christmas

2. # He caused many offence during the Christmas

3. # He caused many an offences during the Christmas



4. ¥ No correction required

Question Number : 64 Question Id : 2752287942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(He caused many an offence during the Christmas) period by openly stating his hatred of the Geldof coup.
Options :

1. ¥ He caused many a offences throughout the Christmas

2. % He caused many offence during the Christmas

3. # He caused many an offences during the Christmas

4. ¥ No correction required

Question Number : 65 Question Id : 2752287943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Read it, then come back and re-read this post from last November.

Options :

1. ¥ prescient

2. # munificent
3. % proficient

4. % insufficient

Question Number : 65 Question Id : 2752287943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Read it, then come back and re-read this post from last November.

Options :



1. ¥ prescient
2. ®* munificent
3. #® proficient

4. % insufficient

Question Number : 66 Question Id : 2752287944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Disorder provides an excuse to liberties in the name of restoring calm.
Options :

1. # exscind

2. ¥ rescind

3. % abscind

4. # descend

Question Number : 66 Question Id : 2752287944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Disorder provides an excuse to liberties in the name of restoring calm.
Options :

1. % exscind

2. ¥ rescind

3. # abscind

4. # descend

Question Number : 67 Question Id : 2752287945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts



can be rearranged to form a meaningful and grammatically correct sentence.
In America, or the

P. more empyrean

Q. realm of art, few citizens

R. were more senior than Al,

S. none more youthful, cogent,

articulate or productive.
Options :

1. # SRQP

2. ¥ PQRS

3. % RQPS

4. % SPQR

Question Number : 67 Question Id : 2752287945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

In America, or the

P. more empyrean

Q. realm of art, few citizens

R. were more senior than Al,
S. none more youthful, cogent,

articulate or productive.
Options :



1. % SRQP
2. ¥ PQRS
3. # RQPS
4. % SPQR

Question Number : 68 Question Id : 2752287946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below:

quotidian
Options :

1. # trivial

2. # pious

3. ¥ exciting

4. % embellished

Question Number : 68 Question Id : 2752287946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below:

quotidian
Options :

1. % trivial

2. ® pious

3. ¥ exciting

4. % embellished

Question Number : 69 Question Id : 2752287947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below:



plausible
Options :

1. # untenable
2. # jrrational
3. % credible
4. % allay

Question Number : 69 Question Id : 2752287947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below:

plausible
Options :

1. # untenable
2. # irrational
3. % credible
4. # allay

Question Number : 70 Question Id : 2752287948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # presumptus

2. % presumptuous

3. % presumtuous

4. ¥ presumtus

Question Number : 70 Question Id : 2752287948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # presumptus

2. ¥ presumptuous

3. % presumtuous

4. ¥ presumtus

Question Number : 71 Question Id : 2752287949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt incorrectly. Choose the incorrectly spelt word.
Options :

1. ¥ olactory

2. # estimable

3. % ebullient

4. % disseminate

Question Number : 71 Question Id : 2752287949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt incorrectly. Choose the incorrectly spelt word.
Options :

1. ¥ olactory

2. % estimable

3. % ebullient

4. % disseminate

Question Number : 72 Question Id : 2752287950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom:



Leave no stone unturned

Options :

1. ¥ Make all possible efforts

2. % You are more likely to get in trouble if you have nothing to do
3. % Deteriorating and headed for complete disaster

4. ® A personal intuition you get, especially when feel something may not be right

Question Number : 72 Question Id : 2752287950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom:

Leave no stone unturned

Options :

1. ¥ Make all possible efforts

2. ® You are more likely to get in trouble if you have nothing to do
3. # Deteriorating and headed for complete disaster

4. ® A personal intuition you get, especially when feel something may not be right

Question Number : 73 Question Id : 2752287951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom of the given meaning:

Not willing or wanting to change from your normal way of doing something
Options :

1. # Gall and wormwood

2. ¥ Fixed in your ways

3. % Don’t look a gift horse in the mouth

4. ¥ Method to my madness

Question Number : 73 Question Id : 2752287951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom of the given meaning:

Not willing or wanting to change from your normal way of doing something
Options :

1. % Gall and wormwood

2. ¥ Fixed in your ways

3. % Don’t look a gift horse in the mouth

4. ¥ Method to my madness

Question Number : 74 Question Id : 2752287952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below:

Informal ways of spreading information or rumours through conversation
Options :

1. ¥ grapevine

2. % venial

3. # vociferous

4. % yerbatim

Question Number : 74 Question Id : 2752287952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below:

Informal ways of spreading information or rumours through conversation
Options :

1. ¥ grapevine

2. % venial

3. # vociferous

4, % verbatim



Question Number : 75 Question Id : 2752287953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below:

A small growth of trees without underbrush
Options :

1. ¥ grove

2. % utopia

3. % tyranny

4. * nursery

Question Number : 75 Question Id : 2752287953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below:

A small growth of trees without underbrush

Options :

1. ¥ grove

2. * utopia

3. * tyranny

4. * nursery

Sub-Section Number : 2
Sub-Section Id : 275228503
Question Shuffling Allowed : Yes

Question Id : 2752287954 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives



Since water is the basis of life, composing the greater part of the tissues of all living things, the crucial problem of desert animals is to survive in
a world where sources of flowing water are rare. And since man's inexorable necessity is to absorb large quantities of water at frequent intervals,
he can scarcely comprehend that many creatures of the desert pass their entire lives without a single drop. Uncompromising as it is, the desert has
not a limited life but only those forms unable to withstand its desiccating effects. No moist skinned, water-loving animals can exist there. Few
large animals are found. The giants of the North American desert are the deer, the coyote, and the bobcat.

Since desert country is open, it holds more swift-footed running and leaping creatures than the tangled forest. Its population is largely nocturnal,
silent, filled with reticence, and ruled by stealth. Yet they are not emaciated. Having adapted to their austere environment, they are as healthy as
animals anywhere else in the world. The secret of their adjustment lies in the combination of behaviour and physiology. None could survive, like
mad dogs and Englishmen, if they went out in the midday sun; many would die in a matter of minutes. So most of them pass the burning hours
asleep in cool, humid burrows underneath the ground, emerging to hunt only by night. The surface of the sun-baked desert averages around 50
degrees, but 18 inches down the temperature is only 20 degrees.

Sub questions

Question Number : 76 Question Id : 2752287955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an attribute associated with the desert animals?
Options :

1. ¥ Moist skinned

2. % Nocturnal

3. % Swiftness

4. # Stealth

Question Number : 77 Question Id : 2752287956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are considered to be the main reasons for desert animals to thrive in such an austere environment?
Options :

1. # Adaptability and Physiology

2. # Habits and Lifespan

3. % Evolution and Psychology

4. ¥ Behaviour and Physiology

Question Number : 78 Question Id : 2752287957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. # Water is the basis of life for all the living things on this planet.

2. # Desert animals spend the hot day-time sleeping underneath burrows and wake up to hunt during the night-time.
3. ¥ Desert are tangled countries where swift leaping animals thrive.

4. % Moist skinned and water loving animals cannot survive in a desert.

Question Number : 79 Question Id : 2752287958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the average temperature of the burrows underneath the ground?
Options :

1. % 18 degrees

2. % 20 degrees

3. % 50 degrees

4. # 45 degrees

Question Number : 80 Question Id : 2752287959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a large animal found in the North American deserts?
Options :

1. # Deer

2. % Cayote

3. ¥ Tigers

4. % Bobcat

Question Id : 2752287954 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives



Since water is the basis of life, composing the greater part of the tissues of all living things, the crucial problem of desert animals is to survive in
a world where sources of flowing water are rare. And since man's inexorable necessity is to absorb large quantities of water at frequent intervals,
he can scarcely comprehend that many creatures of the desert pass their entire lives without a single drop. Uncompromising as it is, the desert has
not a limited life but only those forms unable to withstand its desiccating effects. No moist skinned, water-loving animals can exist there. Few
large animals are found. The giants of the North American desert are the deer, the coyote, and the bobcat.

Since desert country is open, it holds more swift-footed running and leaping creatures than the tangled forest. Its population is largely nocturnal,
silent, filled with reticence, and ruled by stealth. Yet they are not emaciated. Having adapted to their austere environment, they are as healthy as
animals anywhere else in the world. The secret of their adjustment lies in the combination of behaviour and physiology. None could survive, like
mad dogs and Englishmen, if they went out in the midday sun; many would die in a matter of minutes. So most of them pass the burning hours
asleep in cool, humid burrows underneath the ground, emerging to hunt only by night. The surface of the sun-baked desert averages around 50
degrees, but 18 inches down the temperature is only 20 degrees.

Sub questions

Question Number : 76 Question Id : 2752287955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an attribute associated with the desert animals?
Options :

1. ¥ Moist skinned

2. % Nocturnal

3. % Swiftness

4, % Stealth

Question Number : 77 Question Id : 2752287956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are considered to be the main reasons for desert animals to thrive in such an austere environment?
Options :

1. # Adaptability and Physiology

2. % Habits and Lifespan

3. % Evolution and Psychology

4. ¥ Behaviour and Physiology

Question Number : 78 Question Id : 2752287957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. ¥ Water is the basis of life for all the living things on this planet.

2. # Desert animals spend the hot day-time sleeping underneath burrows and wake up to hunt during the night-time.
3. ¥ Desert are tangled countries where swift leaping animals thrive.

4. ® Moist skinned and water loving animals cannot survive in a desert.

Question Number : 79 Question Id : 2752287958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the average temperature of the burrows underneath the ground?
Options :

1. # 18 degrees

2. ¥ 20 degrees

3. % 50 degrees

4. ® 45 degrees

Question Number : 80 Question Id : 2752287959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a large animal found in the North American deserts?
Options :

1. ® Deer

2. #® Cayote

3. ¥ Tigers

4. % Bobcat
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Question Number : 81 Question Id : 2752287960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefad uy & IR fowedi § 39 fodey &1 w09 &9 Ot AT U IfY-fawse Sreg & It T &1 faweu 37 |
g+ i

Options :




4. % gl

Question Number : 81 Question Id : 2752287960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafoiad uy & IR fowedi § ¥ 39 fodwey &1 w09 &9 Ot AT U IfY-fawse Treg o It T &1 faweu 37 |
g+ i

Options :
1. % il
2. ¢ WA
3. % gt
4. % gl

Question Number : 82 Question Id : 2752287961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad Uy & aR fowedl O O 39 fadwey &1 o9+ &< S QU U eg & To! AiY fawsg o1 fawea 71|
YSfdHR

N

Options :

1. JEl'c[H%W
2. % g+ fdR
3. % §+ fapR
4. % Y5 +hRR

Question Number : 82 Question Id : 2752287961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefad vy § TR el #§ ¥, 39 fah ey &1 T &3 o fau 70 Teg & et IfY fawde 1 fadeu 81|
NE{EEDR

N




Options :

1. *'-/EE:-&-%W
2. % g+ fdR
3. % §+ fdpR
4, % Yg +PRR

Question Number : 83 Question Id : 2752287962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy ¥ aR fowedl & .39 fddwed &1 999 &3 ol dgdia! 9HN &1 Jal fadbed gl |
e

Options :

1. % S g 1 fearar 8
2. % GYIdgI gad

3. % goIdgH

4.« 81 g a1 foraw

Question Number : 83 Question Id : 2752287962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRad Uy O aR fasedl & 4,39 fdeed &1 99 &< ol dgdid! 999 &1 el fddheu 5l |
frca

Options :

1. % S gar =7 feman 8
2. % g ged

3. % gIagH

4. 81 g qar forem

Question Number : 84 Question Id : 2752287963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy 5,9R fawedl & 9,39 fddhed &1 99 & Sl SUNI RMeg BT Hg! fAdbed ol |
Options :

1. ¢ 3BT

2. #® Tedl

3. % SIS

4. % 9ddl

Question Number : 84 Question Id : 2752287963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofRed vy 8, 9R fAwed! # ¥ 39 fadhed &1 99+ B il SUINT WG BT Fgl [ddhed ol |
Options :

1. ¢ 3{fBl

2. % Tedl

3. % AT

4, % ddl

Question Number : 85 Question Id : 2752287964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied uy & IR Aol # ¥ 39 ey &1 98 63 o U Ued &1 Ja! [dbed 81 |
Options :

1. % ¥3dd

2. % 3JHd

3. ¢ QeI

4. % pUF

Question Number : 85 Question Id : 2752287964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



faferiRad Uy & IR fowedl O O ,39 fadw ey &1 99+ &< Sl U Wsq &1 ol f[dbed 71 |
Options :

1. % T3

2. % 3FYd

3.  Qfaae

4. % DU

Question Number : 86 Question Id : 2752287965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied ve o aR fadwenl O 9,39 fawed &1 78 &1 S foU T8 Weg g &1 Tal 31 &1 gt fadwea 71 |
SFHRTH - 3HfdRTH

Options :

1. ¢ X AR

2. % AR AR

3. % {1 S8 &1 . gx
4. % g1 QHN

Question Number : 86 Question Id : 2752287965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied ve o aR fadweul O 9,39 fdwed &1 79 &1 Sl faU T Wsg g &1 ol 312 &1 ¥t fadwea 31 |
SR - 3ifaRH

Options :

1. ¢ g} TR

2. % AR, AR

3. % fo1 ST &1 . gax
4. % §Th] IHH



Question Number : 87 Question Id : 2752287966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafoiad Uy & IR fowedl 1 O 39 fdded &1 99+ &< 1 QU U 9171 & ot U Meg 1 ol [ddhed 8l |

U8TS & SHUR & JHIA SHIH —
Options :

1. % 3Fant

2.« JYTHT

3. % gl

4. % 3fgradlf

Question Number : 87 Question Id : 2752287966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefad uy § IR fowddl 7 ¥ 39 fawey &1 9g &3 5 AT 17T areir & fofe e eg &1 8! fdbeu 81 |
U8TS & $HUR &I GHAIA STHH —

Options :

1. % 3fiardt
2. ¢ YD
3. % 3Yel
4. % 3gaRM

Question Number : 88 Question Id : 2752287967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy O IR fowedl 0 O, 39 Tg! f[ddhed ol 994 B o Rad R o il Sugdd sq &1 gl fddbed g |
YRA B RARTTR &) e Wit @ =gl ¢ |

Options :

1. % BT




2. % WGIfyHH
3. % Tpid
4. ¥ R

Question Number : 88 Question Id : 2752287967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy H,9R fowedl 3 1,39 8! f[dded &1 99 & ol Rad RIM & o SUgad Wsq &1 ! [dded ol |
YR B WRART TR &1 deb Sfd a1 =g 8 |

Options :

1. % ®HEy
2. % WA
3. % Epfd
4. ¥ RIERR

Question Number : 89 Question Id : 2752287968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad Uy & aR fowedl O O 39 fadwey &1 9= &< 11 QU T4 91 o U &1 Ug! fadbed 71|

g1 Tl Tt 3R FeireT ST 74T |
Options :

1. ¢ Igad a1

2. % iy arey

3. % IRA I

4. % fANYarIS aTH

Question Number : 89 Question Id : 2752287968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefad oy d IR fowedl § 9 39 f9wed &1 997 &2 S AU TN a/ag & He &1 Tal f[ddhed 8l |




g1 Tirelt et 3R FeleT ©1 T |
Options :

1. ¢ ggad IR

2. % oy ar

3. % IR I

4. % fNYaES aTH

Question Number : 90 Question Id : 2752287969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy & R fowedi 0 O 39 fadw ey &1 o+ &< 1 QT U 91 o gl o U &1 el fabed 71 |
g T Sidl g 31 TR T3 |

Options :

1. % dagrd

2. ¢ RIS

3. % TS
4. % Jdpard

Question Number : 90 Question Id : 2752287969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy 9, 9R fowedl 4 9,39 fdded &1 99 & ol [GT ¢ a1 & Jii & Ug &1 Hg! [ddbed 3l |
ed g9 slall ,qH 30 TR S8 |

Options :

1. % degrd

2. ¢ IR

3. % TS
4. % Jpard




Question Number : 91 Question Id : 2752287970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgferfead gy H R fowedl § 9 39 faded &1 997 & Sl QU U a1ag & U8 & NG &1 Ua! [ddhed 8l |
39§ WA I |

Options :

1. % gaTfcRliae
2. % gUldRIId®
3. % Agdra®s
4. ¢ IRWIAH

Question Number : 91 Question Id : 2752287970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgferfad gy 1 R fowedl # 9 39 fowed &1 997 &2 Sl QU 7T 9190 & Uef & NG &1 Ua! fddhed gl |
39 T W T g |

Options :

1. % gafaedd
2. % gufdRde®
3. # Agdras
4. ¢ IRVAH

Question Number : 92 Question Id : 2752287971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad Uy O R fawedi 0 4,39 fadhed &1 o= &< S 98! Ay foIg god 91 o1 fabea 71 |
Options :

1. ® IRTTE Ad 8 ,f 3deareg iy gam 8 |

2. % IR1T¢ Hd § [ 3ndeare iy gwrd g

3. IR T A § & 3ndemare 2y gae 8 |




4. % T TE -9d ¢ f 3ndware ; 2y AT 8hm |

Question Number : 92 Question Id : 2752287971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy 8, 9R fasedl 4 9§ 39 fdded &1 98 1 ot 98! faR1 g god 91 &1 fdhed 37 |
Options :

1. % W T¢ Ad § [P 3ndedre Wiy THTE I |

2. % I T¢ Hd & [ 3ndeare ity gurd gm

3. RN T¢ 74 § & 3ndware 2y gae 8 |

4. % T T¢ -0d & & 3ndeare ; <ty g ghm |

Question Number : 93 Question Id : 2752287972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied ve o aR fadwel O 9,39 faded &1 70 1 S faU T8 geTar &1 Tel 31 aran fadwea 71|
3% H gHeA-

Options :

1. MG H o

2. % AP AT

3. % SAPR AT

4. % §gd YH oI

Question Number : 93 Question Id : 2752287972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o aR fadweul O 9,39 fadwed &1 70 &1 S faU T8 geTar &1 Jat o7 aran fadwea 71|
3i § HeA-

Options :

1. ¢ Mg d o




2. % b T
3, % ZIDR Bl
4. % §gd YPH ST

Question Number : 94 Question Id : 2752287973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied ve o aR fadweul O 9,39 fawed &1 70 &1 S faU T8 geTer &1 Jat o aran fadwea 71|
T & UTeht & I8¢ g1

Options :

1. % 3§ P UgdM 7 B

2. % THTATIRYT & T Farehr THIHT

3. ¢ 9 BT U@ ST BT

4. % SHGIHR 3G S SNRIT & ST

Question Number : 94 Question Id : 2752287973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied ue o aR fadeul O 9,39 faded &1 79 1 S faU T8 geTar &1 Ja! 31 aran fadbea 71|
U & UTelt &b I8 g

Options :

1. % 3-q P UG - DAl

2. % THTATRYT o oY Fahr TR

3. ¢ 9 T U ST g

4, % SHGIDR 30 S SIRIT H ST

Question Number : 95 Question Id : 2752287974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy 5 9R fowddl 7 9,3 fade &1 907 3 off AT U Aeifaa &1 et 31 arern fawea g |




YT Ad WU STgT UieT g —
Options :

1. ¢ ol & &4 &1 Iol 3 &l il
2. % 3{HRUI GIYRIGU HRAT

3. % A g g g

4. % 30T Hfad g1 81+ Ugand

Question Number : 95 Question Id : 2752287974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoied Uy & aR fowedl § O 39 fawed &1 999 &< 51 QU U didpifad &1 v o aran fasea 87 |

YT W WY a8l UieT S -
Options :

1. ¢ Tl & o & ol o= &l it
2. % 3fBHRU GYRIYU BT

3. % g GBI g

4. ® 301 fad g1 8T Ugarg

Sub-Section Number : 2
Sub-Section Id : 275228505
Question Shuffling Allowed : Yes

Question Id : 2752287975 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

2 fou U TR & W1e 5 Uy U U § 59 TR @ enYdes U 3R IR fadenl § I Ude Uy 1 Jarad SR I |

3 BT B 37T gl BT Wada- Heardl g| STad od F 81 HTAAT 8, 30 o o1 Tt 6 Tl %| 4l TR e Sita- B
foralt ot fRufy & a1 ord w99l o, o 9 WeTacisll Heeirell ¢ TIad] &1 ATTRedl BT HgTH 10T 8 Waeis S P10 5| ed ¢ (&
Wﬁmmémmmq LY & dER b9 ?'J\alﬁﬂ-ﬂﬂv@rwwﬁrauﬁwmcmwwﬁmdwwaﬂqﬂs%
YR A H TGHR Yo F Feit G 93T 3R S, “BRT A o TART?” SRS 071 58 e SBT YA ISTHR I fo¥) d6d R




UGIPR S 98 36 Holg! o Tl dl d §liet, “HOIGR! 81 e q| JH U1 BTH WY Tg! B ebd, ST H RRI YgTddl B 4l 5| SHfekd
AT 31| Id 3% T8 Ul IdlT [ a1 il SiTd Bl UIRIG [dg & d 98 S-1b Uid H TR US| ST U1 BT S = D1 Aife |

Sub questions

Question Number : 96 Question Id : 2752287976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3TE & SFIUR WadaH &l o 312 g2
Options :

1. % IR IR fgeifad I

2. # GIRI DI U W fqafad G-

3. % QIR ! YAl ¥ 301 HTH BRI
4.« 30 BT B U Y HRAT

Question Number : 97 Question Id : 2752287977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT R & 1R SRl e e Ay @ A
Options :

1. % g Uq fRAf&rd safokd oI axrer o

2. % Pl Dl aUYSTH

3. ¢ 3fdd YRV ¥ fag- d1ct Afdd ! aywr §

4. % B PR de] fek] &b FUH

Question Number : 98 Question Id : 2752287978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RS fIUNITR & IWIE 98 faa 9gd afwid adl g3il?
Options :

1. % ifds 3G 301 H1H W4 fopar o1

2. ¥ I SIS IR & it wHe forar ot

3. % IUPI AGE HRA a1 - U A F 7T R fea




4. % i ITGHT BT fpadt 3R 7 fpa

Question Number : 99 Question Id : 2752287979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
$TH Y D - I AR BT faelH Weg 52
Options :

1. % Grdbi®

2. % SUTYRT

3. % HHE

4. % 3H

Question Number : 100 Question Id : 2752287980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y 3G BT Dl Iugad XMeb -
Options :

1. % 3fTqcld Ueb 4 10T

2. ¢ WG U 9T 0T

3. % WRIGde T 4 00

4. % 3 B SATTIDH I

Question Id : 2752287975 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

2 feu g e & o1e 5 Uy AU TN (39 TN ) egdes Ue 3R TR faeed) B A Udd U &1 GaiaH SR 9 |

3 BT B 3T B} HRAT Wads- Heardl o] ST ofd F 81 HTAAT 3, 30 o o1 Tt d T g 34 YR afe Sita Bt
forait off T & 1o vred Yad oy, ot a8 arddiel! S drdl g WTadsl 8T AN T &1 HeH 07 §| WIaae- deW- &1 101 | Hd & [
T fa1 Ui fagM SaRds fAammR Yoid ReH & TR Te 3 aH Hidk @ Ue ufd g1y o e SieT 91 9o e 39 Uy 31 3=
YR I H DR YA I Holl THS 9371 3R I, “HRT AHH o Tar?” SRE% [0 $3 ald DT T I3 Id fay| 780 IR




UGIPR S 98 36 Holg! o Tl dl d §liet, “HOIGR! 81 e q| JH U1 BTH WY Tg! B ebd, ST H RRI YgTddl B 4l 5| SHfekd
AT 31| Id 3% T8 Ul IdlT [ a1 il SiTd Bl UIRIG [dg & d 98 S-1b Uid H TR US| ST U1 BT S = D1 Aife |

Sub questions

Question Number : 96 Question Id : 2752287976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3TE & SFIUR WadaH &l o 312 g2
Options :

1. % IR IR fgeifad I

2. # GIRI DI U W fqafad G-

3. % QIR ! YAl ¥ 301 HTH BRI
4.« 30 BT B U Y HRAT

Question Number : 97 Question Id : 2752287977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT R & 1R SRl e e Ay @ A
Options :

1. % g Uq fRAf&rd safokd oI axrer o

2. % Pl Dl aUYSTH

3. ¢ 3fdd YRV ¥ fag- d1ct Afdd ! aywr §

4. % B PR de] fek] &b FUH

Question Number : 98 Question Id : 2752287978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RS fIUNITR & IWIE 98 faa 9gd afwid adl g3il?
Options :

1. % ifds 3G 301 H1H W4 fopar o1

2. ¥ I SIS IR & it wHe forar ot

3. % IUPI AGE HRA a1 - U A F 7T R fea




4. % i ITGHT BT fpadt 3R 7 fpa

Question Number : 99 Question Id : 2752287979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
$TH Y D - I AR BT faelH Weg 52
Options :

1. % Grdbi®

2. % SUTYRT

3. % HHE

4. % 3H

Question Number : 100 Question Id : 2752287980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y 3G BT Dl Iugad XMeb -
Options :

1. % 3fTqcld Ueb 4 10T

2. ¢ WG U 9T 0T

3. % WRIGde T 4 00

4. % 3 B SATTIDH I

Disciplinel
Group Number : 6
Group Id : 275228297
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20



Is this Group for Examiner? : No

Disciplinel
Section Id : 275228424
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228506
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 2752287981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘T scafens 7 wiew: 3fEa-

Options :

], % RS
, x TUT Wiee

IUTH T

3.4 '8

4% aragiee:



Question Number : 101 Question Id : 2752287981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘FEfeT: seateAs 7 Ay 3iEa-

Options :

L% aiaﬂirﬂ:
, x TUT Hiew:

TUTHTH:

3.4 '8

4 % CIETHIee:

Question Number : 102 Question Id : 2752287982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T searm wfrufa=ae: aafa-
Options :

| = TR

7 & UUT+UT

3 = T¥+T

4 % TATHOT



Question Number : 102 Question Id : 2752287982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a7 soary giufeeee s=fa-

Options :
| ® TR

) v TUTHTT
3 % TH+T

4 % TUT+OT

Question Number : 103 Question Id : 2752287983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Ta+REE Oy & @i HET?

Options :

| % SCTE:




Question Number : 103 Question Id : 2752287983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Ta+REE sy & @le HEa?

Options :

1. ® E!‘Qﬁ'ﬂ"l?ﬂ:

i agmﬁ‘-‘a:r:

Question Number : 104 Question Id : 2752287984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘T +ITH Hafa-

Options :

| @ FSTA

3%@@?

-

H T

4. %



Question Number : 104 Question Id : 2752287984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘T +FTH Hafa-

Options :

| v FISTA

) x W HTH

3_wﬁm

-

4 x BT

Question Number : 105 Question Id : 2752287985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
+1w scuw wieugea 9 safe-

Options :



Question Number : 105 Question Id : 2752287985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f+1w scuw wfaugea 9 safe-

Options :

4. % ﬁ'im':

Question Number : 106 Question Id : 2752287986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T +TT 3T el FAUT FHIAET TURH H HAfA?

Options :

L AR
, v EEsETET =
% BT

, x eI



Question Number : 106 Question Id : 2752287986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR+ 3T hed FIUT fAHIET T HAfa?

Options :

e UR
, v AEETET =
3% BT

4« TETeAEET

Question Number : 107 Question Id : 2752287987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘HREN =y gAw: a=e-
Options :

dcHod:

1. % =

R A e

;. % TEE:

4w GIeGH



Question Number : 107 Question Id : 2752287987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘FioeY ooy gaw: g=fe-

Options :
dcdoy.

% "3

5 HEOATHIT:

;. % TEE

4w GITGT

Question Number : 108 Question Id : 2752287988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HSETATH HETTATAT AR O AT Hafa-
Options :

| % 3T

) % ISTTATHCOTAT

3 % HCTEATHHATRR:

4 v HEITETTT

Question Number : 108 Question Id : 2752287988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

‘HSTATH HETTIATAT FHRER: S0¥ TATH: Ha9fa-
Options :
1 ®% ST

5w HEITATHEATAT
s % ISCTATTHARN:

4 v HEITETTT

Question Number : 109 Question Id : 2752287989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘UATATH: §eIF THTE: Hafa-
Options :

1.9 mﬂ'&f

Question Number : 109 Question Id : 2752287989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

‘UATATH: §eIF THTE: Hafa-
Options :

1.+ mﬂ'&f

Question Number : 110 Question Id : 2752287990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRy gy g safe-

Options :

|, % TOar = e =

» % HIAT I ATET =

3. v A T far =

ox QA TGE

Question Number : 110 Question Id : 2752287990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TRt geay Fag: qafe-
Options :

1 % ﬁIT-IT?ffEIHTEI

H % HIdl = HAMAT =

;v AT T BT T

v ARG

Question Number : 111 Question Id : 2752287991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TIHIIOT’ cIT FATH: HIfa-

Options :

Question Number : 111 Question Id : 2752287991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TIHIIOT" ScIT FATH: HAfa-

Options :

Question Number : 112 Question Id : 2752287992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘TeIeleT: Foaey faerg: safa-
Options :

| % I &

s w TEI: gl

4 v TEE A

Question Number : 112 Question Id : 2752287992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TeJer:’ Scary faug: safa-

Options :

| TR E
)« TR
3 % T B

L TRIEIT Bl

Question Number : 113 Question Id : 2752287993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘T IIIEN SCUEY FATH: Haia-

Options :

1. a3

2.ua_-h'q1ﬂ?ﬂ'
3 % 3 TR

4. % o 39AEN



Question Number : 113 Question Id : 2752287993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘A IUGRET UL A daia-

Options :

3 % 3 39gEN

4. % & 39IET

Question Number : 114 Question Id : 2752287994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UL FRAMUT Hia faenfa?
Options :

l.g,agﬁtm

- -



Question Number : 114 Question Id : 2752287994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTFhd FRAM0T Fia fenfar
Options :

l_g,qgﬁﬂam

S -

Question Number : 115 Question Id : 2752287995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
hamaT: gFETes: F: FrIar
Options :

| % FH



Question Number : 115 Question Id : 2752287995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T gEaes: & FIda?
Options :

1 % #
) #® h{UTH

4 v Fell

Question Number : 116 Question Id : 2752287996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"JIATSTGA $od AT A7 RATE?

Options :

1 % mﬁﬂ'

R 4 ICECLE
3 ® F‘&’I?T

4. ® ICICLE

Question Number : 116 Question Id : 2752287996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

‘YIAIASIEAH §cdF 39T A1H FAfEd?

Options :

| ® m?ﬁ

R4 ICECLR
3 ® 'ﬂ'&’I?T

4. ® ﬁﬁ'ﬂ'l

Question Number : 117 Question Id : 2752287997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o e F2ada-
Options :
1. = [ HI

-

3.9,34‘1%1-@:1?:

4, % STHCGTTH

Question Number : 117 Question Id : 2752287997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

o e F2ada-
Options :
1. = [ HI

3.9,34‘1%1-@:1?:

-

4, % SCIAH

Question Number : 118 Question Id : 2752287998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sOfEAS T # uEa: g=far

Options :

Question Number : 118 Question Id : 2752287998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TAH ScaTEAs TET & SutEa: aeae

Options :

Question Number : 119 Question Id : 2752287999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

| v TS
, w AT SFr

O

uhv;i;{II"Hrldd-; Cops

3. %

L TEgFASTT

Question Number : 119 Question Id : 2752287999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

‘Ffer et aguH’ SOTA, FATAT Fa FIUT sTTA?
Options :

| v HHRATST
, x AT fareda

[

ahéﬂ?%dd# FH

3. %

, x TEgFdsTU

Question Number : 120 Question Id : 2752288000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ffee: Septa: sfa F3uT fastfaa: sg=ae-

Options :




Question Number : 120 Question Id : 2752288000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
—_— - — z
SAfershd: pid: g FauT Fefea: 9g=ad-

Options :

4. v TEHH
Discipline2

Group Number : 7

Group Id : 275228298

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline2

Section Id : 275228425

Section Number : 1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228507
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 2752288001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSUTEr: Agucad Tfa Fifeger & &9 s@fa?
Options :

1. # Yo

-

3 v TSedl

4 % TSI

Question Number : 121 Question Id : 2752288001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSUTEr: AgYcad Fla Fiferger h §9 s@fa?
Options :

1 % Jod.



3 TSedl

4 % TSI

Question Number : 122 Question Id : 2752288002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘THUE ‘FI T T q33-
Options :

1, % 9%

2.~'/3 3

-

AR
4, % 3eaH

Question Number : 122 Question Id : 2752288002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FTHUE: ‘FI TIT T §TA-
Options :

| ® SFdH




Question Number : 123 Question Id : 2752288003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H+5+509 ScATT TANET: HaTA-

Options :

1. ¢ Hefiem

Question Number : 123 Question Id : 2752288003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H+5+509 ScATT TANET: HaTA-

Options :

1. ¢ Hefiem




Question Number : 124 Question Id : 2752288004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

LIS o,

AT TSI (TMe+3A) HT FreshIecaIetd THavcad! Ty sancr Rl
Options :

4 STelear

Question Number : 124 Question Id : 2752288004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T[T T FheAAet (T+IAM) HT FreshIecaIetd THavcad! Ty sager =gl

Options :

| % STel=rdT:




4 STelrdT

Question Number : 125 Question Id : 2752288005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI, FOT T HeF (AITTA) | 37T FresFAaeadesy FHagead sy sfage B

Options :

1 ® H+TegTTel

=

3 % HTded+3TTeT

4 % S+ 37T

Question Number : 125 Question Id : 2752288005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘BT IO TS Hed (HTeTTa) | HT FrshIeedIesd Ipiavcadl [y sfHagear =aal

Options :

| % Sr+gegTia




3w Sged+HTT

4 % ST+ 37T

Question Number : 126 Question Id : 2752288006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘YT uTdr: FAAg Fodd qfease & safa-
Options :

2ok

e

1. =

2. # aJ i

3. ¢ a-" )

.ua.: :

4

Question Number : 126 Question Id : 2752288006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘YT T FAEg Fodd dfeeser & srafa-
Options :

1. % 2



rseId

3. ¢ a-" h

MQJ

4,

Question Number : 127 Question Id : 2752288007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ararar TG Yo &9 s7afa-
Options :

| % ATHA

) % HIA
3 % FAAHT

4 T

Question Number : 127 Question Id : 2752288007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ararar TG Yo &9 s7afa-
Options :

| % ATHA




) % AAA
3 #% Ad3He

4 TR

Question Number : 128 Question Id : 2752288008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TAYTA: THA T Id T HTT-

Options :

Question Number : 128 Question Id : 2752288008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TAYTA: THA T Id T -

Options :
TAH

L ® "8



Question Number : 129 Question Id : 2752288009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST seuT & gead:?
Options :
| & od

3« T

4. ® Ea.:-h

Question Number : 129 Question Id : 2752288009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

St sy & eI ?
Options :
1« &d




) % I

3« T

4. % o9~

Question Number : 130 Question Id : 2752288010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A= ScTAAL: T FaT Fafa-
Options :

l.wm

» @ Tegar

Question Number : 130 Question Id : 2752288010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR ST T HAT STaTA-
Options :

l_wﬁ'ro"r



Question Number : 131 Question Id : 2752288011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Te9e IRafad o #afa decaad’ 3fa Heauaeivr vay varg HeAd Uiaar §uea?
Options :

L w T Ty

2MF‘Q“I‘§%‘¥%@

4'Jﬁﬁ3ﬂﬂﬂﬁﬁﬁﬁ'§

Question Number : 131 Question Id : 2752288011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Teug TRAfad o $Efa deegad 3T IFTTeeteT TAY TArg HieHe qUIadT Huea?

Options :



By ey
garg fasfEay
TY Y

guéﬁsmaaaﬁﬂﬁ?rg

Question Number : 132 Question Id : 2752288012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3Eae 3T eraraa =g
Ep) ATEEH TUTH: |

Options :
| = B

h # .

3. ¢ QT

4 ® G

Question Number : 132 Question Id : 2752288012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3 3eEda g a=g|
a9 dAlceh 9IATH: |
Options :

| = T

) #

3 ¢ QT

4 % TR

Question Number : 133 Question Id : 2752288013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
sFRafFets Rearue waeg-

HET JUT. _ FOUT &H AT FUH)
Options :

1w U9

) v HY

3 % eI

4, % o

Question Number : 133 Question Id : 2752288013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
3R Eded Waed-
&, 3
3T JOT FSUT: FH AT FEUH)
Options :
1w Ud

) v AW

3 % eIy

4. % o

Question Number : 134 Question Id : 2752288014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

sRIaEITIed REFarue [awd|

TR aad _ TSee AeaT §d Fd: HEeads)
Options :

AL
2. % T

a3

3 0w 2

4. % A



Question Number : 134 Question Id : 2752288014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

EaEaTIes e W=l

TR Foas _ Teee AT 8 . HEeads)
Options :

v ¥
2 % T

a7

3 w2

4. % e

Question Number : 135 Question Id : 2752288015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRTIcH ey I
T sTead FEqaeT TaTedrerew #ET|

Options :

L

a7

2. w2

3% HE

4.« Ud



Question Number : 135 Question Id : 2752288015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3FIauea Rearya Ra=g|
o greard gerqaar Taaefieres #ET|

Options :

% F

2. % 3

3 % HIT

4. ¢ U

Question Number : 136 Question Id : 2752288016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
EaEaTIea e W=l
T IET HTEI0TH FIEAtd T U ¥R fawew q2afa)

Options :
I EERGE]

0w AT AT



4 % U3 dF

Question Number : 136 Question Id : 2752288016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRaEeTTYeT RFaede |
T JFg HE0TH FIERIATS T T dOS fSwew geafy)

Options :
. EENRGE]

Question Number : 137 Question Id : 2752288017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRAETTIea Rerarde &=

997, AT Wiaor gff @afa des= aufa)
Options :

1. = a4 i

2. HA

3% "



4% ¥9

Question Number : 137 Question Id : 2752288017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEaEaTIes e W=l
TR, AT WAN0T A TATer Setsa T9icT|

Options :

1. = SRl

7 HA

3 % =

4% ¥9

Question Number : 138 Question Id : 2752288018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH U TT Jadeaas §9 s3a-
Options :

) w JHY

3 v THTT



4. % Tﬁﬁ:

Question Number : 138 Question Id : 2752288018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH Ut Jardeaas §9 s73a-
Options :

Lasm

7w A
4 TD?{'UT
4. % Tﬁﬁ'i

Question Number : 139 Question Id : 2752288019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T wegTT aeaFigaTs ¥ Hafa-
Options :

L &
2« B

3 BOET:



4% B

Question Number : 139 Question Id : 2752288019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T regTT e aFdeTEa ¥ a9fa-

Options :
Lv &
2 x &
3. % gL

4% B

Question Number : 140 Question Id : 2752288020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT AreeEy TgeliFaea ¥ wafea-

Options :
1 % JHEL

2.\./1?41'&

3 & {HIAT



Question Number : 140 Question Id : 2752288020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

AT AeETy Fgrdieaa ¥ safed-

Options :
1 % JHET

ng

3 % {HUT
4. ® LAT:

Discipline3
Group Number : 8
Group Id : 275228299
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Discipline3

Section Id : 275228426
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228508
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 2752288021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FE AeCET TSSragaTA § sralfcr-

Options :

Question Number : 141 Question Id : 2752288021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TEr oTeE T G‘Fﬁagqﬂﬂ T sTafa-

Options :

4. ¢ e :

Question Number : 142 Question Id : 2752288022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT A ITEg T T (-

Options :
1. ® !

-

2.\-,/tﬁTﬁT

3‘uﬁﬁ

4. % HHT

Question Number : 142 Question Id : 2752288022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A AT EATIEgaTA F Hfa-

Options :
1. # !

-

ZgﬁTﬁT

3.z~sq_=|ﬁ

4 % 9T

Question Number : 143 Question Id : 2752288023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A AT FYHEETTS T -

Options :
1« 4I.

5 % I
3.2»5 ll'\-\.

4 % S TET

Question Number : 143 Question Id : 2752288023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘T T T Q‘Mgﬁqﬁ Fq -



Options :
| & ST

o % Tl
3 % 9%

4 % =l

Question Number : 144 Question Id : 2752288024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T FAIEgaT § -

Options :

|, % Hedle
y % HedT.
3« 9

4.8 THA

Question Number : 144 Question Id : 2752288024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT AT SfIAITagTTA § srafa-

Options :




Question Number : 145 Question Id : 2752288025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ey’ Tty TsuRdeTgs & gafg-
Options :

| THGHIRE

) v TG

3 % 99

pe G

Question Number : 145 Question Id : 2752288025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Taeaq Usety TsaFdehadd §9 dia-

Options :




5371

Question Number : 146 Question Id : 2752288026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘e ety Tgeiieaes §9 sEfa-

Options :
1. ¢ I

) ® HH

3 % AR

4. % HAT

Question Number : 146 Question Id : 2752288026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEAT ety Ageiieaaa ®9 sEfa-
Options :



13 4 3

Question Number : 147 Question Id : 2752288027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ToAT e FeaHISgaaA §9 Hafd-
Options :

Question Number : 147 Question Id : 2752288027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT AT 'arcnﬂﬁgaaﬁ T -

Options :




Question Number : 148 Question Id : 2752288028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TIY e T WSSl fastadl ¥ Hafa-

Options :

4 ® EREIEN

Question Number : 148 Question Id : 2752288028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT TeeET TSl w9 Hafa-




Options :

4. % Sl

Question Number : 149 Question Id : 2752288029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y ST SaaranasTedl ® afa-

Options :
[ ® SEL 1K

2. & S

=S

Question Number : 149 Question Id : 2752288029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

VY AT EEdraTasiaal § Hard-



Options :
| % CEL22H

0. 9%

£

Question Number : 150 Question Id : 2752288030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 3EaeT AT g see:est
STforerr: Heamed T=ol=al ()

Options :
1% F

)« AT
3.0 W

4 v o

Question Number : 150 Question Id : 2752288030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e 3EaeT AT g see:est
STforerr: Heamed T=ol=al ()

Options :
1% F

)« AT
3.0 W

4. v faw:

Question Number : 151 Question Id : 2752288031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fresaeeed 3fEaw AT Nearae gueg)
SHETTATH OIE "ied| (375¢)
Options :

| v 3t

, % 3TSaT:
3 % HSTET:

4. % SCTE.

Question Number : 151 Question Id : 2752288031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

FSIAEeT 3awT AT Easy= |
FETTITH oI Tledl (375eA)
Options :

| v Fset
5 % 37T
3 % ST

4. % SSCTE.

Question Number : 152 Question Id : 2752288032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

1. ¢ j :

3 % o

an @

Question Number : 152 Question Id : 2752288032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

|, v S
5, w A
. x l
s @

Question Number : 153 Question Id : 2752288033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T A AECAPNET ATARN oA T HA(d-
Options :

god

1. % e

). v T8
3. % 8

4 % TAled



Question Number : 153 Question Id : 2752288033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T AN AP ATATIN = T HTd-
Options :

god

1. = =

) v T8

4_%&‘5%

Question Number : 154 Question Id : 2752288034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

| HAE
2. % 3

3. v BN
4 % FSTE



Question Number : 154 Question Id : 2752288034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

F T ACARRED mﬁﬂibaﬂﬂdﬂﬁ T sTaTa-
Options :

2. % 3

3 v BN
4 #% PISTTE

Question Number : 155 Question Id : 2752288035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fr uran: FRfeEeRTT SyRRYagaTs §9 i

Options :




Question Number : 155 Question Id : 2752288035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
H e AfRfETERTT SuATeYEgTT &9 s

Options :

Question Number : 156 Question Id : 2752288036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT TR FAETaEe T Tafa-

Options :

1 AT
). % Ealed
UG

dad

4. % "3



Question Number : 156 Question Id : 2752288036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T U FEARRET FATITEA T afa-

Options :

| v Said
2. % aairfl
3 % GEIfe

aad

4. % 2

Question Number : 157 Question Id : 2752288037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
'3 Ul FEEHRET ScaHeTagads ®9 HAfd-

Options :

1. ® HTET
2. v T
3T

3. %

, x FEA



Question Number : 157 Question Id : 2752288037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
'3 Ul FETHRET ScaHeTagad § -

Options :

1 ® HTET
) o HTEH

HTHaA

3. %

4 % FTEA

e

Question Number : 158 Question Id : 2752288038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T FEAHR TYHAITgTTA 9 Haf-
Options :

1. % iig] [li'E.

2. % rersafed

3. v FETd

4 ® 9&TH.

Question Number : 158 Question Id : 2752288038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T UTAr: SEeh FUAGRTSgaTA &9 -

Options :

| = Ofersafa
5 % Gfersdied
3_¢qﬁ'ﬁ

4 % HEUTH:

Question Number : 159 Question Id : 2752288039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘T FEgEdl aerviaTeaY |
ST Rkt 9= gt

ELEE fF oeg:?

Options :



Question Number : 159 Question Id : 2752288039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FETATIT FEGFA! aerEA Iy |
et et 3w TradeRaERt
gcad F oeg:?

Options :

Question Number : 160 Question Id : 2752288040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Toegrq Afafagom afg a1 Fgaeq,
& FAERAT T=od a1 TAeH|
5T F oo TgFAH !

Options :
| % SREIH

) v FHeATIEH



Question Number : 160 Question Id : 2752288040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Toeerg Afafaqom af a1 Fga=g,
TEHT FATAG T=oq I TASEH]
gcad F o= TgFAH?

Options :

5  THeA T

3 % SIS

HASITAATITH
4. % =2 - N

Discipline4

Group Number : 9
Group Id : 275228300
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 275228427

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 275228509

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 2752288041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrfafEay eeierarey ey oee: HiEa-
Options :

| AT AHTENE: BeleE:

5 % TR GMETESA H YI=O

qEH @ o Frsf arar

3. %



L ﬁqmlrdlfaaadﬁun TSR 985!

Question Number : 161 Question Id : 2752288041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ey ey ey o 3iEd-
Options :

| v HETeT AHTERE: Bl

5 % TR GWETEA H YI=S

qE@H @ & Frsf arar

3. %

L ﬁqmlrdlfaaadﬁun TSR 985!

Question Number : 162 Question Id : 2752288042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G F TUH SIS A TEATEIEY T,
Aeca RoAvSATY o1=9ar 6T a1 Toadad !l

Scad & oo FgFAH?

Options :

1. % 3T

). % RS



3 % HIEdl

4 v GRS

Question Number : 162 Question Id : 2752288042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g F TUH TIEATS S JEATEIEAY T,
Acca TAVEATY 99ar THed a1 JoolaH |

s & T TIFAH?

Options :

| % 3T

). % 2ol

3 % W3

4'9/511'&,\?-1'%‘9‘?1%?3:[

Question Number : 163 Question Id : 2752288043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o giee: geguen Fgfa fafoga ar gfear = g,
¥ &F e e gfafawmEor ar feyar g faeas)

EE! F o= TgFAH?




Options :
| o HIEdT

) x FUEUH

3.MQEE &

4 % THeACTeT

Question Number : 163 Question Id : 2752288043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T Gee: Feewe T@fa fafega ar gfar 7 &,
I gF e e gfafawmeor ar fevar sareg faeas)

EE! F oo TgFAH !

Options :
|« HIET

) x FUEUH

3% ECIEELERE!

4 % THeATCIoTH

Question Number : 164 Question Id : 2752288044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
HEGeaEar e gaerea
feaTerar AT SNt |

Scad & oo FgFIH?

Options :

) % FHeATIOTeR]

3 3T

Question Number : 164 Question Id : 2752288044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HEGeE T TSR gaerear
BRI ATH = |

50T & oea TgFaA?

Options :
1 . H m .

) % FHeATIOTER]

3 3T



Question Number : 165 Question Id : 2752288045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FTTATTANT T, FHCRETRETAISHIH|’ 5T F: HATHR: HEd?
Options :

HeTHTH:

1. = -

) % O
3. v THSH

FHhH

4. % A

Question Number : 165 Question Id : 2752288045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FTTATTANT T, FHCRETRETAISHIH|’ 5T F: HATHR: HEd?
Options :

HeTHTH:

1. = -

) % O

3.¢¥ =



Question Number : 166 Question Id : 2752288046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FHATHT HE AATAHAS ScdF o HoAgHN:?

Options :
1. = e

-

2. 393

3 ® mﬁ'ﬂ'

4. % Iefeateara:

Question Number : 166 Question Id : 2752288046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FHATHT H AATAAIT 3caF & IATHR:?

Options :
1. = AL

-

7 JHHAT

3 % 3?';5"”



4 % HUTFR=aTH:

Question Number : 167 Question Id : 2752288047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I AN I9dEsad A7 ' 3T & HASHR: a7
Options :

| & 3?';[&"“'
2. w 344
3 ® "R H

4, % THPH

Question Number : 167 Question Id : 2752288047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TFIdg AN aYdEasad A ' 5cdF & HASHN: ddd?
Options :

1.« 3?';[5"”
2. % 344
3 % "qehH

4, % THPH



Question Number : 168 Question Id : 2752288048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A ATNAT el [ATIIAH|
392l & HJOT ST F e |
ScOT F: SR Iad?

Options :

1. % JYHAT

THhH

2. ~

HeA9TH:

3. % =

4 v FUTea=aTa:

Question Number : 168 Question Id : 2752288048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘g g1 S EIC Faor Fuadaa|
39gel & FWEOT g F e |
ST & FoIseRT: 9997

Options :

1. % JHHAT

2. a‘\s T



4 v HUEATTE:

Question Number : 169 Question Id : 2752288049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FYeRTaEaRaT A avai=T &3
Taw‘armiu:t‘dtaﬂi YT gHAEA: BETH I
ScOT F: SR Iad?

Options :

1. % 3I9AT

) W

3 % HUFAATE:

4. % 3?';[&"“'

Question Number : 169 Question Id : 2752288049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FYeRTaEaRars Al avai=T &3
e e WFIfa FAAE: HeaH I
ScOT F: SR Iad?

Options :




) W

3 % HUFAATE:

4. % 3?';[&"“'

Question Number : 170 Question Id : 2752288050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIART T0N F gR T 07 & Faek |
HeTHeTAT FUMIRT Fgfa fEarfaer amem
SCOT & FOISRN: Ia9°?

Options :

B -

2. 2"5 .

4. ® Qé'q':

Question Number : 170 Question Id : 2752288050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



‘HIART =@ FT gR §T 0 & Faer|
HeTHeTAT FUMIRT Fgfa fEarfaer amem
ScOT F: ASHN: TaI?

Options :

1. ¥ R

2. w .

4 % W

Question Number : 171 Question Id : 2752288051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TEER 3T Gear ATEH g |
:qq;fqaahgmws_%h{da%qﬂﬁﬂ?uqqﬁ
g A W eAd H |l

ScUT F: SN Iad?

Options :

1. ® JHAT

2 v TIPH

3 % STHET



4 % HUEAIaTH:

Question Number : 171 Question Id : 2752288051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FARNH sEgfra: weon
UEHER ST Geak AMEHA gl
dQﬂﬁ%&H‘jH%lSﬁﬂﬂﬂutdﬂldjii?;ﬁﬂgﬂd\
AqgTe A W ead H |l

ScOT F: SR Iad?

Options :

1. % JYHAT

2 v FIRH

3 % mﬁ'ﬂ'

4. % HYe AT

Question Number : 172 Question Id : 2752288052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IETATIT FFGFA! ATy’ &G AN FET ToUTT HTEd?

Options :
E o

1.



. THEH

4 % YTATOUTET

Question Number : 172 Question Id : 2752288052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IETATIT TFGFA! AT’ & AITENRUT HET TeUTT HEd?
Options :

E e

1.

) THEET

3 % FEarTeerEd

4 % JTHATIOUTET

Question Number : 173 Question Id : 2752288053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Al &TAT et e eamenfaad searfe o lles FET U JUIAHTES?

Options :

1.\-,»*%‘?’%:1@




2. ® TEﬂ'Z
3 W %E'F:l?-m?ﬂ':

4 % THE

Question Number : 173 Question Id : 2752288053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Al &TAT et e eemenfaady seare ooles FET U JUAATES?

Options :

| v TRl

2. & T
3 % SEEIIHA

4 ® UHAE

Question Number : 174 Question Id : 2752288054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FT GATHSET T2 FF AE 1’ ST HIEAA Ty FTETA?

Options :

|« T



Haﬁ:wm;m@r

2.

s T or

4 x TEATTERT

Question Number : 174 Question Id : 2752288054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘FT GATHE T FF AU EAEATATT: || STFT: FEAA IeT ITATA?

Options :

iy

E e

2.

- Tga@r

4w TEATIRT

Question Number : 175 Question Id : 2752288055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘rerrsswrafEeaET dlaa o)
SF A TS T TTH |

gToREh YT JUAHATET?




Options :

1. ® TEn'Z

, v TEDH

Question Number : 175 Question Id : 2752288055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
rerrsswrafaemET dlaa Redfoms)
MU FfAgeclar Ao FJea=a ||
sfaedles 1 FuaATEa?

Options :

1. ® TEfT:

, v R

Question Number : 176 Question Id : 2752288056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TAAAT [T F e FOATEIA HET QST o I e
Options :

| % T8 91 &F Fearor & AT 37w afer IgoT Far o

5 v & (T fES) wemat & wear F o & 39 T o o

, » T8 T & $OME F T 37 W TN o ol

4 % T8 SoATetd ¥ Sfor 9Tod ST o7 3R 3! T HIaT o)

Question Number : 176 Question Id : 2752288056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TAAAT [T F e FOATEIA HET QST o I e
Options :

| % T8 91 &F Fearor & AT 37w afer IgoT Far o

5 v & (T fES) wematt & wemr & fov & 39 T o o

, » T8 T & $OME F T 37 W TN o ol

4 % T8 SoATetd ¥ Sfor 9Tod ST o7 3R 3! T HIaT o)

Question Number : 177 Question Id : 2752288057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

eheATH & FTfEee:?

Options :

3 TegTdls:

4 % SUFETIA:

Question Number : 177 Question Id : 2752288057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
eheATH & FTfEee:?

Options :

Question Number : 178 Question Id : 2752288058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

7 ait=a il Affeasem, 7 TOAeead, T FamARgaad, 7 e Teafa, 7 dged oy

Options :

w TEaaH

1.

5 TEAH

Question Number : 178 Question Id : 2752288058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 9= e, affswee, 7 TOAeRad, F FoawAngadd, 7 de Tl F Sgeer o

Options :

I CEE:|

1.

5 TEHH

« STOFTH

3.



Question Number : 179 Question Id : 2752288059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YFATH: FHET Hel HTHIA?

Options :
ar@m

1. =

Question Number : 179 Question Id : 2752288059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YFATH: FHET Hel HTHIA?

Options :
ar@m

1. =

, # HegIISEd

3_¢FF|TFﬁ§FJ



4 % SATET:

Question Number : 180 Question Id : 2752288060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :

qus{IF:

1. = =2

5 % FAFITTA:

SCE D

3. %

4 TeEIdrs:

Question Number : 180 Question Id : 2752288060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :

qus{F:

1. % =2

) % FAFITTA:

SCE

3. %



4 TeEIdrs:

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 181 Question Id : 2752288061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Discipline5

10
275228301
0

0

No

No

0

10

No

Discipline5

275228428
1

Online
Mandatory
10

10

10

Yes

1
275228510
Yes



"THATFET T 9T AT 9T
Options :

L AehaATH.

-
2
=
3
L2
4
I
=
e
a1l
§!
3

2. ?—FITI'Eﬁ?:

;% Hegdls:

SCED

4. % N

Question Number : 181 Question Id : 2752288061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TTARFST T T AETAAAET A AR SHIAHIIS qha: FedEG(Fd & HUATA?

Options :

L AchadlH.

Question Number : 182 Question Id : 2752288062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



eFATHICRN: 3T HIEAA FedsEa?
Options :

| w TEdrTeer
, o FEFEIH

SUFARANA

3. %

4, % AR

Question Number : 182 Question Id : 2752288062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AFATHIIG: FieT HIEHA FredsTed?

Options :

| w Teargeer

2. ¥ : ~
3';533.:

4. % RTeTH

Question Number : 183 Question Id : 2752288063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

‘3ot 7 Fear 9hg v 3T oo FE AreREaiEa?
Options :

ngﬁ?ﬂ

5w TECAGEIECAH

HEARTATHH

3. %

4{/34‘@4?133@?—!?@[

Question Number : 183 Question Id : 2752288063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘et 7 o uhm e =M oo FE AesEmiEa?
Options :

1_w9ﬁ-‘ﬁ=ﬂ

5w FECAATHaC A

3. % 3 Ea

 HISFAARMGedeH

4

Question Number : 184 Question Id : 2752288064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

‘TRrgu=dr TAaFgEAar scUle F. IFdara?

Options :
1 % ohd9:

v T

3, % TRETAET:

4. % ched.

Question Number : 184 Question Id : 2752288064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘TRrgT=dr TAa=ga=ar scule F. I’

Options :
| % h9:

v T

R BCLCUEES

4. % thed.

Question Number : 185 Question Id : 2752288065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Gl FHAT T Tfg IRar?
Options :

Question Number : 185 Question Id : 2752288065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AFeael HAT FE Tae[g Iar?
Options :

Question Number : 186 Question Id : 2752288066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



m?:_[ T guH suaTafa 4 TEATESIIAY T $caTicesiis & FFaITdn Heada?
Options :

| v JOEARa:

Question Number : 186 Question Id : 2752288066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G T TUH STIEA el AETIAY AT SeaTieesiisr & FFaaan Hegae?
Options :

| v TAEARE:

Question Number : 187 Question Id : 2752288067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



P A FT FIEEEf T Hheetiotel
FSfaIFar AYOTEAT AT TF Fa9 ITH: ||
ScAC g d: FRIIA FT Ffd 3aar?
Options :

Question Number : 187 Question Id : 2752288067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YHTE TEA, T ATEGG ed HleeArA
TG faepary IO AT T FA9 A |
ScaTC g FRTIS HT Jia FeFdr?

Options :



Question Number : 188 Question Id : 2752288068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tafe: wredr wameg ToEeasT e
SEAAbAEE Teiea o Far I’
ST ATOERUT #TT TUTT HET?

Options :
1. % TEdTE

HTATFATFTIET
2' e e |

4 % SOHATCHET

Question Number : 188 Question Id : 2752288068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tafe: W FamTg THEeasd g |
SEAdhdoed TeHleA AR e I
st FASATERUT T TeUTT HES?
Options :

| % HEde A




Question Number : 189 Question Id : 2752288069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fearaeer o= &7 a2

Options :

Mﬁwplﬁvrr

1.

) @ ARV
s % HIeEEA

4 % HIEA

Question Number : 189 Question Id : 2752288069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fedreer: ge: Fa RAfEa:?
Options :

w’|"Er~'ﬂ:‘12>|:45r:rrr

1.



5 SAUTIOSdT

4 % HTEA

Question Number : 190 Question Id : 2752288070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fearacere &g arem:?

Options :
1w =

2. % oA
R BE]

4. ¥ HedlL:

Question Number : 190 Question Id : 2752288070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

EdacrsT &g dem:?

Options :
R

) % I



Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 191 Question Id : 2752288071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Teaching Methodology

11
275228302
0

120

No

No

0

10

No

Teaching Methodology

275228429
1

Online
Mandatory
10

10

10

Yes

1
275228511
Yes



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does NEP 2020 mean?

Options :

1. # New Education Program

2. % New Education Policy

3. ¥ National Education Policy

4. # National Economic program

Question Number : 191 Question Id : 2752288071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
NEP 2020 %1 YUl T &1 87

Options :

1. % g UIHTH Y™

2. % Y TIHYH Urerdl

3. ¢ T TR UTa!

4. % R SHAHD UUTH

Question Number : 192 Question Id : 2752288072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the actual outcome of learner?
Options :

1. % Exploration

2. % Perception

3. % Response

4. % Reinforcement

Question Number : 192 Question Id : 2752288072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fRrenff o1 arafe ufvoms @ 82
Options :

1. % ol g

2. % YT (RTwM)

3. ¢ 3gfohan

4. % Qe

Question Number : 193 Question Id : 2752288073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How students learn and develop in school?
Options :

1. # Intellectual

2. ¥ Interaction

3. % Coordination

4. % Motivation

Question Number : 193 Question Id : 2752288073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o7 foemad B 39 diad iR sl gid 82
Options :

1. % fad

2. ¢ 3=:foban

3. % JH4AY

4. % SIYUROT

Question Number : 194 Question Id : 2752288074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of the RTE act?



Options :

1. #® Right to free education act

2. % Right to compulsory education act

3. # Right to free and compensatory education act

4. ¥ Right to children to free and compulsory education

Question Number : 194 Question Id : 2752288074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RTE 3fAg# o1 quf 7ol 1 52

Options :

1. % 1S g P Th = T

2. % ZT G HURRT TIHIA Tae

3. % 73T T I TS HU-HCR] Ty Ta
4. e g Foreg ¢ 11 08 HUaRT TR

Question Number : 195 Question Id : 2752288075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is cold integration?

Options :

1. ¥ Coordination of hands and fingers
2. % Coordination of legs and toes

3. # Expression of face

4. % Coordination of eyes and ears

Question Number : 195 Question Id : 2752288075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
NIRESEIEISE G K
Options :



1. ¢ U} 3R JTferal &1 gH=ag

2. % W3R W o1 IJTferdl &1 gHaT
3. % dgY &t 3fffad

4. % 3G 3R B BT gAY

Question Number : 196 Question Id : 2752288076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the benefits of drama and art in education ?
Options :

1. # Students become better actor

2. % Students become better artist

3. ¥ Students become better learner

4. % Students become better person

Question Number : 196 Question Id : 2752288076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rren T eh IR FATH ATATHE 2
Options :

1. % BT IR AT T &

2. % BT IER HATDHR §d §

3‘JWWQT&H?ﬁW%

4 % FHIEREAFTAd &

Question Number : 197 Question Id : 2752288077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Learning mother tongue is type of

Options :
1. # Third language acquisition



2. ¥ First language acquisition
3. % Fourth language acquisition

4. # Second language acquisition

Question Number : 197 Question Id : 2752288077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TIQHTST YT BIIPR &
Options :

1. % TR |97 i

2. ¢ T HINT 3o

3. % Trft UToT 3l

4. % fgclig UTeT 3o

Question Number : 198 Question Id : 2752288078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is the first skill that a child learns in life?
Options :

1. % Writing

2. % Speaking

3. ¥ Listening

4. % Reading

Question Number : 198 Question Id : 2752288078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % o

2. % e




3. ¢
4. % 3T

Question Number : 199 Question Id : 2752288079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the following which one is not the type of socialisation?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Primary socialisation

2. Anticipatory socialisation

3. Resocialisation

4. Secondary socialisation

Question Number : 199 Question Id : 2752288079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafRad o ¥ S 91 THSIHR0 BT UHR ol 57
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. YT TSRO

2. TR FHTSIHRUT

3. TIGHTSHRT
4. M NS FHTSHHROT

Question Number : 200 Question Id : 2752288080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

An inclusive classroom is a general education classroom:
Options :

1. ¥ In which students with/without disabilities learn together
2. # In which students are not participated in learning

3. # In which students learn individually

4. % In which students learn by themselves

Question Number : 200 Question Id : 2752288080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ oo fasatsifaemait &= teh a1 dad §
2. % o H faemlf S| & yrT A8 a8

3. % 9 B HAfedTd U 9 Wad §

4. % o d o W@d IEd 8




